GROUP EXHIBIT B Third Application Period

Professional	Title or Position	Admitted to Bar	Hourly Rate	Hours Billed this Application	Fees Billed this Applications	Rate Increases Since Case Inception
Joseph D. Frank	Partner	1993	\$725.00	.30	\$ 217.50	one
Joseph D. Frank	Partner	1993	\$695.00	.80	\$ 556.00	One
Jeremy C. Kleinman	Associate	1993	\$410.00	54.60	\$22,386.00	None
Michael Matlock	Paralegal		\$200.00	16.20	\$3,240.00	None
Christina Carpenter	Paralegal		\$145.00	8.60	\$1,247.00	None
Total:	Average Rate all Timekeepers:		\$435.00	80.50	\$27,646.50	
	0	e Rate all ttorneys:	\$610.00			

GROUP EXHIBIT B Full Application Period

Professional	Title or Position	Admitted to Bar	Hourly Rate	Hours Billed this Application	Fees Billed this Applications	Rate Increases Since Case Inception
Joseph D. Frank	Partner	1993	\$725.00	0.30	\$ 217.50	One
Joseph D. Frank	Partner	1993	\$695.00	37.00	\$25,715.00	One
Jeremy C. Kleinman	Associate	1993	\$410.00	164.30	\$67,363.00	None
Reed Heiligman	Associate	2007	\$310.00	2.40	\$ 744.00	None
Michael Matlock	Paralegal		\$200.00	67.30	\$13,460.00	None
Christina Carpenter	Paralegal		\$145.00	27.10	\$3,929.50	None
Total:	Average Rate all Timekeepers:		\$ 414.17	298.40	\$111,429.00	
	_	e Rate all ttorneys:	\$535.00			

GROUP EXHIBIT B Additional Fees Post-Effective Date

Professional	Title or Position	Admitted to Bar	Hourly Rate	Hours Billed this Application	Fees Billed this Applications	Rate Increases Since Case Inception
Joseph D. Frank	Partner	1993	\$725.00	2.30	\$1,667.50	one
Jeremy C. Kleinman	Associate	1993	\$410.00	4.00	\$1,640.00	none
Christina Carpenter	Paralegal		\$145.00	10.20	\$1,479.00	none
Total:	Blended Rate all Timekeepers: Blended Rate all Attorneys:		\$426.67	16.50	\$4,786.50	
			\$567.50			

Case 15-15249 Doc 347-2 Filed 02/22/16 Entered 02/22/16 18:03:51 Desc Group Exhibit B Page 5 of 5